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QUESTION 1

In the data center active-active solution, the static priority mode or third-party arbitration mode can be used. However, if
the arbitration fails, you need to manually switch to the static priority mode.

A. True
B. False

Correct Answer: A

QUESTION 2

Huawei HiCloud platform is designed based on the mainstream microservice architecture in the industry and supports
fast iteration and elastic scaling.

A. True
B. False

Correct Answer: A

QUESTION 3

After the recovery policy of Huawei DR software BCManager-eReplication is deployed, you must perform the test until
the test is passed. In this case, failover or planned migration can be implemented.

A. True
B. False

Correct Answer: A

QUESTION 4

A connection mode between the DAS and the server. The storage device is directly connected to the server through
cables (such as optical fibers). Which of the following statements are correct?

A. The system needs to be powered off when the core components of the DAS are maintained
B. When multiple hosts are connected to the DAS, services of different service levels can be provided
C. The number of ports that can be connected to the host is limited

D. The DAS with insufficient storage space can share the remaining space of the DAS with excessive storage
resources

Correct Answer: B
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QUESTION 5

The two data centers use the remote replication technology and the synchronization period. Asynchronous remote
replication is used for services with high continuity requirements and important data services.

A. True
B. False

Correct Answer: B
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